No:-PW-NCD-E-Tender-NIT/2024-25:- 3864-7/ To

HIMACHAL PRADESH

PUBLIC WORKS DEPARTMENT

The Executive Engineer (IT Cell),

Publishing of tender Notice.

Nirman Bhawan, Nigam Vihar, Shimla-2

Enclosed please find herewith the tender Notice of works as given in

the Notice Inviting Tender for uploading on Department website as per Notification No. Prncipal Secretary (PW), to the Govt. of H.P. letter No.PBW(B) A(3)1/2020 dated Shimla-2 the 16<sup>th</sup> July, 2021 as the works mentioned in the tender notice are urgent in nature and in public

interest. DA: - Notice Inviting Tender. (01 No. Works)

Subject: -

Dear Sir,

Executive Engineer Nerchowk Division

PRPWD Nerchow Copy forwarded to for information:-

Copy forwarded to the Superintending Engineer, 1st Circle, HP.PWD., Mandi for information please.

Copy to all the Assistant Engineers, working under this Division. Copy to Account Branch in this office. Copy to Drawing Branch in this office. Notice Board.

Executive Engineer Nerchowk Division PPWD Nerchowk

## HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT

## "NOTICE INVITING TENDER"

Sealed <u>Percentage rate</u> tender's on form <u>"6&8"</u> are invited by the Executive Engineer, Nerchowk,H.P.PWD.Nerchowk for the following works from the approved and eligible contractors enlisted in H.P.PWD. so as to reach in this office on or before 06.09.2024 upto 02.00 P.M. and will be opened on the same day at 3.00 P.M. in the presence of interesting contractors or their authorized representatives who may like to be present. If it happen to be holiday on the tender will be open on next working day. The application for obtaining the tender form will be received up to 11:30 AM on 06.09.2024 and tender form will be issued on dated 06.09.2024 upto 01:30 PM. The EMD should be attached during the submission of application for obtaining the tender form. The application will not be accepted without Earnest Money & Cost of tender form.

The earnest money in the shape of FDR National Saving Certificate/Time deposit accounts/Saving account in any of the Post Office and Banks of Himachal Pradesh duly pledged in favour of the Executive Engineer must accompany with each tender. The conditional tender's and the tender's received without earnest money will summarily be rejected. The earnest money should be attached with application. The offer of the tender shall be kept open for <u>90 days</u>. The Executive Engineer reserves the right to reject the tender's without assigning any reason:-

Sr. No	Name of work	Estimated Cost (Rs.)	Earnest Money (Rs.)	Cost of Tender From (Rs.)	Time limit	Appropriate Class of Contractor
1	Routine day to day repair and maintenance of civil works under the jurisdiction of HPPWD Division Nerchowk in respect of SLBS Govt. Medical College & Hospital at Nerchowk Distt. Mandi for the year 2024-25. (SH:- Carrying out routine day to day repair and maintenance activities of civil works in SLBS Govt. Medical College & Hospital Mandi at Nerchowk for the month of September.	438712	8800	350	One Month	"D"

It is certified that the above tenders are very "<u>urgent nature</u>", so may

be uploaded on department website in public interest.

Note:- The Constractors/Firms should possess the following documents (Photo copy to be attached).

- 1. The Contractor/Firm should be enlisted with the HP.PWD. & Registration/Renewal copy attached.
- 2. The tender forms will not be issued to those contractors whose performance is not found satisfactory.
- 3. The list of similar type of work executed and work done performance certificate issued by the concerned Executive Engineer required to be produced by the contractor along with application.
- 4. Only two tenders shall be issued to each contractor.
- 5. The contractor will not have more than two works in hand at the time of tender and only up to completion of work satisfactory including adherence to quality parameters further work will be awarded to him. All under taking/affidavit alongwith application that he is not having more than two works in hand in HP.PWD for execution failing which the application for issuing the tender forms shall not be accepted.
- 6. The contractor/firm shall be issued tenders on the production of valid GST/income tax clearance certificate.
- 7. As per Govt. Notification No.PBW (B)A(3)1/2020-I dated 07.10.2021, in case the tendered amount of the lowest bidder comes more than 5% in 1st call the negotiation can be conducted with him but the negotiated amount should remain within 5% of the amount put to tender (on market rate) and vide Govt notification No.PBW (B)A(3)1/2020-I dated 10.05.2023 tendered amount below 30% of the estimated cost will be accepted.

Executive Engineer Nerchowk Division

Name of work; - Routine day-to-day repair and maintenance of Civil Works under the jurisdiction of HPPWD Division Nerchowk in respect of SLBS			Estimated Cost:- 438712.00				
	vt. Medical College & Hospital at Nerchowk Distt. Mandi for the Year 2024-25. (SH; Carrying out routine day-to-day repa	air and ma	intenanee	Earnest Money :- 8800.00			
	ivities of Civil Works in SLBS Govt. Medical College & Hospital Mandi at Nerchowk for the month of September).		·	Time :-	-		
S.N	Description of item			axes including GST in	Unit	Amount	
0	Carrying out Routine day to day repair & maintenance of all civil works such as buildings, boundarywall, internal road etc so as		In figure	In word			
	to ensure continued good performance with intended function of such works in the year 2024-25 in respect of SLBS Govt Medical College & Hospital Nerchowk, i.e. to maintain water supply from storage tanks to avoid any shortage, water supply lines repairing, repair and replacement /refixing of all defeetive/missing water supply and sanitary installation, repairing as well as cleaning of all choked sewerlines and allied sanitary littings, repair /replacement of all types of wooden/plywood works including furniture (wooden/steel) and its accessories, repair of all kinds of cement works, Tile works, granite works, POP works, Distempering/painting/polishing works, repair of all types of aluminium frame work including silicon filling, glass & ply works, repair of all type of false ceiting, repair of stainless steel frame works, curtain rod etc. by any suitable means. In nutshell, all sort of repair & maintenance pertaing to civil works at SLBS Govt. Medical College & Hospital Mandi at Nerchowk during the day, evening as well as night shifts as per requirement by deploying requisite maintenance staff as per CPWD Norms or as per direction and to the entire satisfaction of Engineering in Charge with in all leads, lifts and other incidentals excluding cost of materials required for repair and maintenance work. However all necessary tools implements and equipment including welding set etc. (manual as well as power opertated) along with consumeables(bits) for carrying out the repair and maintenance activities including cost of sundries and P.O.L. wherever required shall be arranged by the contractor. The cost of necessary repairs alongwith the requisite spares of such tools and equipment shall also be borne by the contractor himself. The electrical power supply to such tools and equipmment shall be arranged by the department free of Charge. The contractor shall be fully responsible to take adequate safety measure and precautions on as to ensure public as well-as worker safety at site. The contractor shall also maintain prop				The same series assessed that the same state of		
	Staff to be Deployed			The second second	1 6		
	Mason Grade -11	60	753.78	Rupees Seven Hundred fifty three and paise seventy eight only.	Day	45227.00	
	Carpenter Grade -III	60	753.78	Rupees Seven Hundred fifty three and paise seventy eight only.	Day	45227.00	
	Plumber 2nd class	180	692.08	Rupees Six Hundred ninety two and paise zero eight only.	Day	124574.00	
	Sewerman	120	667.07	Rupees Six Hundred sixty seven and paise zero seven only.	Day	80048:00	

Beldar (Multi Task Worker)	150	667.07	Rupees Six Hundred sixty seven and paise zero seven only.		100061.00
Welder	30	753.78	Rupees Seven Hundred fifty three and paise seventy eight only.		22613.00
Painter 2nd class	30	698.74	Rupees Six Hundred ninety eight and paise seventy four only		20962.00
				Total	438712.00
Quoted Percentage in figures Quoted Percentage in words					

Executive Engineer, Nerethowk Division H.P.P.W.D. Ner Chowk